v
L

== 0" A =
AN (RBF)RBBHS
* % * % * % * % * % * % * % * % 5
£
&
* % * % = * % * % * % * % * % * %
% & | o HRTKEFHFAEBRTROEZ R
z2 8N F 5 2 ¥ B | ®KM4%E 78 18
2 M K 9 | #BERY 2 A E | IR —EREALL
ZHEBEME | 858 TKER Mt B W : 7105
2z &« %8B ¥9, 020, 000H (5 BB ZRZEER ¥820, 000M)
¥ 7 il A& (F3A) ¥9,989, 100 (FEME Fik) ¥9,081,000M)
XAEHI R (E & (R tk) ¥6, 356, 700H
#wXet/\Xa FAHEEM
- bE E | BEEREESHTHR—THEH4EG6S
AR 8 RX
B T 2 M |Ss#M4FE TH 1B Hio S 5F 3H22B F£T ( 265BFH)
B 47 & B | EEETESEATH#HRN
A (R#E) B | 70 4% 6A28H F#%&285009% EMNREXFIBIOISEE
* B o[3601 AE-EaVHIILEUN | BH R | RE
X I F # | ETE-ELL Bl & |Gl
A #l ( R ® ) # &
E3 = e £ 1 % 2 [A] % 3 [H] e
51011-0
#X&tr 7HILEHE 8,900,000 M
50303-1
BikX=st FBEEMEXM 8,800,000 M
50656-1
“RX=/XRa HEEBEER 8,200,000 9 %4
. TR
Tk NS
A B &




